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2M: AMES
FE: FHAX WL (AMES)(FELRNANL/NAL Al
cHelr XL X2 (ol ®
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
401 Al HI LRI 50,000 50,000 0
01 Al&HI 50,000 50,000 0
OATZ QAKX CIAILY 50,000,000 50,000
HYSAHUI(AFES)(JIEHIIE 154,534 155,298 NT64
oleE 29y 75,59 76,318 NT24
ols 29| 75,594 76,318 NT24
101 Q44| 75,594 76,318 NT24
01 22 75,59 76,318 NT24
OxU224Y 75,59
o533 9,796% * 1 *40A| 2Hx 128 4,703
c63 8,312 x5 x40A| 2t 128 19,949
o73 7,457 x4Z x40 A| 2t 128 14,318
o83 6,6822 x5 x40 A| 2t 128 16,037
©93 5,993 2 x5 x40 Al 2t 128 14,384
=J|15103 5,4222 » 1% x40 Al 2t 122 2,603
o XM 71,994,000 *5% 3,600
Il 23 78,940 78,980 A0
J|23 78,940 78,980 A0
201 ety 14,500 14,500 0
01 AFR22/dl 9,500 9,500 0
oYetgY| 5,000,0002 5,000
OFEEL] 2,000,0002 2,000
ouxz 2,500,000 2,500
02 32294l 5,000 5,000 0
O22L3YAA 5,000,000 5,000
202 04 H 52,800 52,800 0
01 2o 52,800 52,800 0
OALEZY 200,000 x22% « 122 52,800
203 PR FZXY| 11,640 11,680 A40
01 JI2A2I L= 6,600 6,600 0
oSy 6,600,000 6,600
02 HAIAY LAY 840 880 A40
OXAAD|A = A 40,0002 x21 840
04 BASILLSZ=ZAH 4,200 4,200 0
ORMRY ARFXYI 350,000 x 128 4,200




